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Maths Knowledge Organiser

Year 5: Addition .and Subtraction

Prior Knowledge (v& unit 3)

Structures and Representations

. Add .and subtract numbers with up

to b4 digits
. Adding and subtracting ls, 104,
1005, 1,0004

. Use the formal written methods of
columnar .addition and subtraction
. Estimate and wse irwerse operations

to check .answers
. Round .any numhber to the nearest
10, 100 or 1,000

. Solve addition and subtraction tw.o-

step problems

Place Vialue Grid

Column Methods

Bar M.odels
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Place Value Grid: 3274 + 5601 = 8875
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7 hundreds - 3 hundreds
= 4 hundreds

2tens-1ten =1 ten

7 ones - 3 ones = 4 ones
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500 + 200 = 700
20 + 50 =70
3+1 =5

523 + 251 =775
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Add .and subtract whole numbers with .more than 4 digits

Rounding to Estimate

Starti ng _]’rom the right, add each column in turn.

Carry digits to the next column if the total adds teo

Starti ng frr:um the right, subtract each column in

turn.
more than 9. e s st 4 _ Round to ten:
L1 3 subtract 7 would give us a
TTHTH, H T 0 THTH, H T 0 3L 6 )5/ 3 T1T 11 ; ] 41 630 + 7380 = 49 010
Lo Lo legative number, so we regroup
I %1 %1513 I+ IL1N15 3 L 50 7 41 630 + 7390 = 49 020
L 27 by, 5 2 7 Evchanae ans lat af 10 <o ws
8 0 b Rarkiange pnefiodaff0 solee 41 640 + 7390 = 49 030
- now have 13—7.
i . \.\ -.,.L.1”."T-,.1T., . ' Rounding is not as accurate when both numbers are rounded up.
= . =t T 1T A better estimate comes from “rounding” one down and cne up.
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41 635 + 7386 = 49 021

Solving Multi-Step Problems

Use Lrwerse to Check

Using a Bar Model
The sum of two numbers is 25 567.
The difference is 1875.

Subtract 1875 from 25 567 = 23 692.
Halve 23 692 to find smaller number = 11 846.
Add 1875 to find larger number = 13 721.

O } 25 567 £20
1875 — 1 »  £3.75 and £8.49.
£12.24 £7.76

E3.75 + £8.49 = £12.24
£20.00 - £12.24 = £7.76

£20 is used to buy 2 books costing

How much change is g[uen?

53 476 To check 53 476 - 32 732 = 20 744

32 732 20 744 Use 32 732 + 20 744 = 53 476

Start with a number, subtract 409 and double. I end with 6264,

To find the starting number use the inverse: halve, then add
409. Half of 6264 = 3132. 3132 + 409 = 3541, The starting

number was 3541.




